Himachal Pradesh Public Works Department

No. PW-SD-I-CTR- Tender-NIT/2024-2025-

-45 Dated: 25-4-202

To

The Executive Engineer (IT Cell)

Nigam Vihar Shimla.

Subject :-

Publication of Tender Notice.

Jai Hind

Enclosed please find herewith the tender Notice of work as given in the Notice Inviting tender for uploading on department website as per notification Pr. Secy. (PW) to the Govt. of Himachal Pradesh letter No. PBW (B)A(3)1/2024 dated Shimla-2 the 03-01-2024 as the works mentioned in the tender notice are urgent in nature and in public interest.

DA:- Notice Inviting Tender & Schedule of Quantity and Certificate.

Executive E Shimla Division No-1., HPPWD Shimla-3.

Copy forwarded to for further necessary action please.

1. The Superintending Engineer 4th Circle HPPWD Shimla.

Executive Engineer, Shimla Division No-I., HPPWD.,Shimla-3.

HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT NOTICE INVITING TENDERS

Executive Engineer B&R Division No-I HPPWD Shimla for the following works on behalf of the Government of Himachal Pradesh from the eligible contractors enlisted in HPPWD, so as to reach in the office as per time schedule given below:-

1. Date of receipt of application for tender forms:-

2. Dated of Issue /sale of tender forms:-

3. Date of receipt of tender:-

4. Date of opening of tender:-

05-05-2025 10:00 AM upto 12:00 PM

05-05-2025 12:00 PM upto 4:00 PM

06-05-2025 .up to 10:30 AM

06-05-2025 up to 11:00 AM

Sr. No.	Name of Work	Estimated cost	EMD(Rs.)	Cost of Tender (Rs.)	Time Limit	Eligible class of Contracto
1	A/R & M/O to various road under Sub Dikvision NO-I (SH:- Remoal of slips in various RDs).	99400/-	2000/-	350/-	30 days	Class-D
2	A/R & M/O from Kelti to vermu 0/00 to 3/215 road under sub Division No-I (SH:- Removal of slips in various)Job No-II.	99000/-	2000/-	350/-	30 days	Class-D
3	A/R & M/O from Khalini tro Bihar 0/00 to 2/250 & Jhanjiri to Khalowa 0/00 to 0/750 road under sub Division No-I (SH:- Removal of slips in various Rds).	98875/-	2000/-	350/-	30 Days	Class-D
4	A/R & M/O various type-I to Type-VI GAD Residential Qtrs at kasumpti Shimla-9 (SH:- Repair work in type-III 135, Providing and fixing Chajja in Tyhpe-I -211 under kasumpti Section).	99704/-	2000/-	350/-	30 Days	Class-D
5	A/R & M/O to Type-I to VI Qtrs at Mehli Shimla (SH;- Providing and Laying PVC Flooring set No.15&16 type-III at mehli Shimla).	99693/-	2000/-	350/-	30 days	Class-D
6	A/R & M/O from Kelti to vermu 0/00 to 3/215 road under sub Division No-I (SH:- Removal of slips in various)Job No-I.	99850/-	2000/-	350/-	30 days	30 Days
7	A/R & M/O to various Residential building at kasumpti Shimla-9 (SH:- Providing and Fixing of PVC Flooring and Cupboard in Type-IV set No.58 at kasumpti Shimla-9).	97909/-	2000/-	350/-	30 days	30 Days
8	A/R & M/O Elysium Devidhar road (SH:- Providing and fixing railing and Grating in various Rd).	99701/-	2000/-	350/-	30 Days	Class-D
9	A/R & M/O Elysium Devidhar road (SH:- Providing and Fixign railing and Grating in various Rd).	95729/-	2000/-	350/-	30 Days	Class-D
10	Restoation of Rain Damges on various roads under sub Division No-I (SH:-Remvoal of slips at various Rds).	99600/-	2000/-	350/-	30 Days	Class-D
11	A/R & M/O to Type-I to VI Qtrs at mehli Shimla (SH:- Providing and fixing PVC wall paneling in set no.17 type-VI at mehli Shimla).	87993/-	1800/-	350/-	30 Days	Class-D
12	A/R & M/O to Type-I to VI Qtrs at mehli Shimla (SH:- Providing and fixing Gypsum board ceiling in Rooms & Toilets set no.17 type-VI at mehli Shimla).	99638/-	2000/-	350/-	30 Days	Class-D
13	A/R & M/O to Shoghi mehli Junga Sadhupul road in km. 12/375 to 48/925 (SH:- Providing and Fixing of Road Studs (Hill side) at Rd. 21/00 to 22/325).	98280/-	2000/-	350/-	30 Days	Class-D
14	A/R & M/O to Shoghi mehli Junga Sadhupul road in km. 12/375 to 48/925 (SH:- Providing and Fixing of road Studs (Valley side) at Rd. 21/00 to 22/325).	97890/-	2000/-	350/-	30 Days	Class-D
15	A/R & M/O to Type-I to VI Qtrs at mehli Shimla (SH:- Providing and Fixing Gypsum board ceiling in Dining & Ist Floor toilet set nO.17 type-VI at mehli Shimla).	97193/-	2000/-	350/-	30 Days	Class-D
16	A/R & M/O Directorate of Health services SDA Complex kasumpti Shimla-9 (SH:-Providing and fixing accessories and Baroda green 2 nd floor of Director of Health services Block No.5 under Parimahal Section).	65688/-	1500/-	350/-	30 Days	Class-D
17	Annual /Comprehensive Maintenance of STP/ETP of Atal Institute of Medical super Specialties Hospital at Chamayan Shimla for the period w.e.f. 01-05-2025 to 15-06-2025(1.5 months).	98300/-	2000/-	350/-	36 Days	Class-D
18	Restoatrion of Rain Damges on various roads under Sub Division No.1 (SH:- Remvoal of slips at various RDs).	98600/-	2000/-	350/-	30 days	Class-D

It is certified that the above works are required to be carried out immediately being emergent nature of work in public interest. The tender documents shall be issued only to those contractor/Firm who fulfill the following documents with the application.

- 1. The valid enlistment/Registration of contractor in Appropriate Class.
- 2. Permanent account No. (PAN NO).
- 3. G.S.T No.
- 4. Earnest Money in the shape of National saving certificate/time deposit account in the any of the post office in HP. F.D.R from any Nationalized Bank duly pleaded in favour of the Executive Engineer Shimla Division No-I HPPWD Shimla.
- 5. The earnest & cost of tender form for the above works should be submitted with the application for the purchase of the tender form. The application received without earnest money & cost of tender form shall summarily be rejected.
- 6. The officer of the tender shall remain valid up to 75 days after the opening of tender.

- Ambiguous/telephonic/conditional tenders or tender by rax/c mail shall not be considered and will be summarily be rejected.
- 8. Executive Engineer reserve the right to reject or cancel any or all tenders without assigning any reasons.
- If the date given above happens to be holiday the same shall be processed on next working day.
- 10. The Contractor/firms must quote their rates in words as well as in figures failing which EXN reserve the right to accept/reject any or all tenders.
- 11. The tender forms shall not be issued to those contractors/firms whose previous performance is not found satisfactory and who have not executed the previous awarded works within the stipulated period of completion.
- 12. One contractor shall not have more than two major works in hand at a time.

13. Work should be completed by the contractor within stipulated period.

No.PW-SD-I/CB-Tender/2025-2026-Copy forwarded to :-

946-70

- Copy to the Deputy Commissioner Shimla Distt. Shimla. 1.
- Copy to the Executive Engineer Shimla Division No-III HPPWD Shimla. 2.
- Copy to the Sub Divisional Magistrate (U) Shimla. 3.
- 4. Copy to the Sub Divisional Magistrate (R) Shimla.
- 5. Copy to Municipal committee Shimla Distt. Shimla.
- Copy to Block Development officer Mashobra Dsitt. Shimla. 6.
- All the Assistant Engineers under this Division, HPPWD Shimla-3. 7.
- Superintendent / HDM /DAO. 8.
- Notice Board.

Executive Engineer, Shimla Division No-I., HPPWD.,Shimla-3.

Dated : 25-04-2025

Executive Enginee Shimla Division No-I., HPPWD shimla.

	SCHEDULE OF QU				I		
	nder Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION N						
	me of Work :- A/R & M/O to various road under SUB Division No-1.	SH:- Ren	noval	of Slips in			
	ious RDs).				Time:- C	1	
Sr.		No.of Qty	hin	Estimated	Rate	Unit	Amount
No				In figures In words			
Ī	Hiring of JCB excavator-cum-loader (JCB) including P.O.L charges, shifting charges and other anciliary equipments as required at site of work for removal of slips/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft rock hard rock including their intermediate classification of soil including mechanical transportation of necessary. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took place, the contractor is liable for it. All salvaged materials such quarried stone shall belong to the department and maximum usefull quantities of stone from removal of slips shall have to be neatly stacked along road side on road butms, minium 30.00 Cubic metre of cutting earth work. Minimum 150.00 cubic metre of removal of slips and 300.00 cubic metre removal of snow shall be done by the machine in one hour, other wise number of hour shall be reduced accordingly. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.		Hour	1050.00	One thousand Fifty Only	Per Hours	71400.00
2	Hiring of Tipper on daily rated basic for carraige of material like stone, empty drumps, muck etc to different destination with in a average lead of 5 Km, the tipper should work for 8.00 hours daily including cost of fuel, oil, lubricants and wages of operator and any repair/ breakage during the excution of work will be borne by the owner of machine at his on rick and cost. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.	7.00	Day	4000.00	Four Thousand only	Per Days	28000.00
						Total	99400.00

Quated rates Percentage in Figures

Quated rates percentage in words.

CONDITION:

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair /maintenance of machineries shall be borne by the contractor.
- 3. For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4.Any damages or loss to Govt./Private property during course of work shall have to be make good by the contractor.

Executive Em Shimla Division Vo. I.

HP PWD Shimla-3.

	SCHEDULE OF QU								
Ге	nder Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION N	o-I, H.P.P	.W.D.	SHIMLA-	Estimate	d Cost:	99,000.00		
	me of Work :- A/R & M/O from Kelti to Vermu 0/00 to 3/215 road u								
	H:- Removal of Slips in various RDs). Job No-II				Time:- One Month				
Sr.	· · · · · · · · · · · · · · · · · · ·	No.of Qty		Estimated	Rate	Unit	Amount		
No	CONTROL OF			In figures	In words				
1	Hiring of JCB excavator-cum-loader (JCB) including P.O.L. charges, shifting charges and other ancitiary equipments as required at site of work for removal of ships/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft rock hard rock including their intermediate classification of soil including mechanical transportation of necessary. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took place, the contractor is liable for it. All salvaged materials such quarried stone shall belong to the department and maximum usefull quantities of stone from removal of slips shall have to be neatly stacked along road side on road burms, minium 30.00 Cubic metre of cutting earth work. Minimum 150.00 cubic metre of removal of slips and 300.00 cubic metre removal of snow shall be done by the machine in one hour, other wise number of hour shall be reduced accordingly. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.		Hour	1050.00	One thousand Fifty Only	Per Hours	63000.00		
2	Hiring of Tipper on daily rated basic for carraige of material like stone, empty drumps, muck etc to different destination with in a average lead of 5 Km, the tipper should work for 8.00 hours daily including cost of fuel, oil, lubricants and wages of operator and any repair/ breakage during the excution of work will be borne by the owner of machine at his on rick and cost. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.	833638	Day	4000.00	Four Thousand only	Per Days	36000.00		
						Total	99000,00		

Quated rates Percentage in Figures

Quated rates percentage in words.

CONDITION:

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair /maintenance of machineries shall be borne by the contractor.
- 3.For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4. Any damages or loss to Govt. Private property during course of work shall have to be make good by the contractor.

Shimla Division No. I. HP PWD Shimla-3.

	SCHEDULE OF QU.	ANTIT	Y					
er	nder Inviting Authority : EXECUTIVE ENGINEER SHIMLA DIVISION No			, SHIMLA-	Estimate	d Cost:	- 98,875.00	
	me of Work :- A/R & M/O from Khalini to Bihar 0/00 to 2/250 & Jha							
)/7	50 road under SUB Division No-1. (SH:- Removal of Slips in various R	Ds).			Time:- One Month			
Šť.	Description of Work / Item (S)	No.of Qty	9	Estimated	Rate	Unit	Amount	
Vo				In figures	In words			
	Hiring of JCB excavator-cum-loader (JCB) including P.O.L charges, shifting charges and other anciliary equipments as required at site of work for removal of slips/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft tock hard rock including their intermediate classification of soil including mechanical transportation of necessary. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took place, the contractor is liable for it. All salvaged materials such quarried stone shall belong to the department and maximum usefull quantities of stone from removal of slips shall have to be neatly stacked along road side on road burms, minium 30.00 Cubic metre of cutting earth work. Minimum 150.00 cubic metre of removal of slips and 300.00 cubic metre removal of snow shall be done by the machine in one hour, other wise number of hour shall be reduced accordingly. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.		Hour	1050.00	One thousand Fifty Only	Per Hours	70875.00	
	Hiring of Tipper on daily rated basic for carraige of material like stone, empty drumps, muck etc to different destination with in a average lead of 5 Km, the tipper should work for 8.00 hours daily including cost of fuel, oil, lithricants and wages of operator and any repair/ breakage during the excution of work will be borne by the owner of machine at his on rick and cost. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.		Day	4000.00	Four Thousand only	Per Days	28000.00	
1						Total	98875.00	
-	Quated rates Percentage in Figures							
	Quated rates percentage in words.							

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair /maintenance of machineries shall be borne by the contractor.
- 3. For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4. Any damages or loss to Govt./Private property during course of work shall have to be make good by the contractor.

Executive Insine Shimla Division No. 1.

HP PWD Shimla-3.

Ten	SCHEDULE OF Q der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-1, H.P.P.		1LA-3.		Estimated Cos	st:-99704=00		
_	e of Work :- A/R & M/O various Type - I TO Type - VI GAD Residential qtrs a			- 9 (SH:-				
	ir work in Type-III 135, Providing and fixing Chajja in Type-1-211 under Ka			,	Time:- One Month.			
Sr.	Description of Work / Item (S)	No.of Qty.		Estimated Rate		Unit	Amount	
No				In figures	In words			
I	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. (i)Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)	0.39	Cum	1150.00	Rupees One Thousand One Hundred Fifty	Per Cubic Metre	448.50	
2	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)For thickness of tiles 10 mm to 25 mm	17.13	Sqm	50.00	Rupees Fifty Only	Per Square Meter	856.50	
3	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Of area 3 sq. metres and below	1.00	Nos	300.00	Rupees Three Hundred Only	Each	300.00	
4	Providing and laying in position cement concrete of specified grade including the cost of centering and shuttering - All work up to plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)1:2:4 one cement: sandcoarse sand): 4graded stone aggregate 20 mm (twenty milimetre) nominal size)	3.58	Cum	6400.00	Rupees Six Thousand Four Hundred Only	Per Cubic Metre	22912.00	
5	Providing and laying concrete for plain/reinforced concrete in open foundations complete as per drawing and technical specification clauses 802,803.1202 and 1203 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.(a) Cement Mortar 1:3:6(One cement:Four sand:Eight graded stone aggregate 20mm(Twenty milimetre) nominal size).	3.36	Cum	5400.00	Rupees Five Thousand Four Hundred Only	Per Cubic Metre	18144.00	
6	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to 1S: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.20	Sqm	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Square Meter	1380.00	
7	Tile work in skirting, risers of steps and dado up to 2 m (two metre) height over 12 mm(twelve milimetre) thick bed of cement mortar 1:3 (One cement :three coarse sand) and jointed with grey cement slurry @ 3.3 kg/sqm, including pointing in white cement mixed with pigment of matching shade complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge. (i) 8 mm(eight milimetre) thick	1.00	Sqm	1150.00	#NAME?	Per Square Metre	1150.00	

8	Providing and fixing GI Pipe complete with fittings and clamp including cuttings and Making good the wallas 15 mm nominal bore	1.00	Rmt	300.00	Rupces Three Hundred Only	per Running metre	300.00
9	Providing and fixing GI Union in pipe complete including cuttings and Making good the wallas 15 mm nominal bore	1.00	No	200.00	Rupees Two Hundred Only	Each	200.00
10	Providing and fixing high pressure PVC spigot and socket, waste and ventilating pipes ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 90 mm dia.	1.00	Rmı	350.00	Rupees Three Hundred Fifty Only	Per Running Meter	350.00
	(ii) 110mm	1.00	Rint	300.00	Rupees Three Hundred Only	Per Running Meter	300.00
11	Providing and fixing PVC single equal branch plain ISI marked including fixing with approved adhesive etc. complete. (i) 90mm dia.	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
	(ii) 110mm dia	1.00	Nos.	220.00	Rupees Two	Each	220.00
12	Providing and fixing PVC collars ISI marked including fixing with approved adhesive etc including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 90 mm dia.	1.00	Nos.	220.00	Rupees Two Hundred Twenty Only	Each	220.00
	ii 100mm	1.00	Nos.	251.00	Rupees Two	Each	251.00
13	Providing and fixing PVC plain bend ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 90 mm dia.	1.00	Nos.	220.00	Rupees Two Hundred Twenty Only	Each	220.00
	(ii110mm dia	1.00	Nos.	250.00	Rupees Two	Each	250.00
[4	Providing and fixing PVC reducer ISI marked including jointing with approved adhesive etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110mmx90 mm dia	1.00	Nos	300.00	Rupees Three Hundred Only	Each	300.00
15	Providing and fixing PVC floor trap ISI marked of self cleaning design including fixing withm approved adhesive, cost of cutting and making good the wall and floors etc. complete.	1.00	Nos.	650.00	Rupees Six Hundred Fifty Only	Each	650.00
	Providing and fixing PVC single equal branch with oval access door, ISI marked insertion rubber washer 3 mm thick bolts and nuts complete including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Nos.	300.00	Rupees Three Hundred Only	Each	300.00
	(ii) 90 mm dia	1.00	Nos.	270.00	Rupees Two	Each	270.00
	Providing and fixing 19mm thick water proof commercial board in shelves/box for cup board with butt joints & fixing with nails & screws etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	3.03	Sqm	1350.00	Rupees One Thousand Three Hundred Fifty	Per Square meter	4091.00
	Providing and fixing 0.80mm thick coloured or plain lamination sheet (sunmica) on boards/ply wood sheets with approved adhesive and nails etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.80	Sqm	850.00	Rupees Eight Hundred Fifty Only	Per Square meter	1530.00
19	Providing and fixing ply wood lining with but jointing and nails (frame work and cover fillets to be measured and paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) 6mm thick.	5.60	Sqm	600.00	Rupees Six Hundred Only	Per Square meter	3360.00

20	Providing and fixing square edges cover fillets (beading) 19mmx6mm(Nineteen milimetre into six milimetre) section i/c mitring at junctions with wood screws and nails complete including carriage of matrials in all leads and lifts as per directions of the Engineer-In-Charge.(i)1st class deodar wood.	14.40	Rmt	65.00	Rupees Sixty Five Only	Per Running Meter	936.00
21	Providing and fixing bright finished brass ball catcher 10 mm dia including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	2.00	Nos	50.00	Rupees Fifty Only	Each	100.00
22	Providing and fixing bright finished Stainless steel handles with screws etc complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 125mm	5.00	Nos	180.00	Rupees One Hundred Eighty Only	Each	900.00
23	Applying priming coat over new wood and wood based surfaces after and including prepering the surface by thoroughly cleaning oil, grease, dirt and other foreign matter) sand papering and knotting including carriage of materials in all leads as per directions of the Engineer-in-Charge.	21.98	Sqm	50.00	Rupees Fifty Only	Per Square Meter	1099.00
24	Painting two coats(excluding coat) on new wood and wood based surface with enamel paint to give an even shade including cleaning the surface of dirt,dust and other foreign matter.sand papering & stoping including carriage of materials in all leads as per directions of the Engineer-in-Charge.(i) With white enemal paint.	21.98	Sqm	70.00	Rupces Seventy Only	Per Square Meter	1539.00
25	Providing woodwork in frames of doors, windows, clerestory, windows and other frames wrought, framed and fixed in position including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) 2nd class deodar wood	0.014	Cum	97000.00	Rupees Ninety Seven Thousand Only	Per Cubic Metre	1358.00
26	Providing and fixing C.P. Brass extension nipple (size 15mmx50mm) of approved make and quality as per direction of Engineer-in-charge	2.00	Nos.	80.00	Rupees Eighty Only	Each	160.00
27	Providing and fixing 15mm mixer for kitchen sink with top / bottom swinging spout, including carriage of materials in all leads as per directions of the Engineer-in-Charge. MAKE ESS ESS	1.00	Nos.	4500.00	Rupees Four Thousand Five Hundred Only	Each	4500.00
28	Providing and fixing one hole basin mixing Faucet, including carriage of materials in all leads as per directions of the Engineer-in-Charge, MAKE ESS ESS	1.00	Nos.	4500.00	Rupees Four Thousand Five	Each	4500.00
29	Providing and fixing wall mixing faucet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. MAKE ESS ESS	1.00	Nos.	4500.00	Rupees Four Thousand Five	Each	4500.00
30	Providing and fixing PVC door bend with oval access door, insertion rubber washer 3 mm thick bolts and nuts ISI marked complete including fixing with approved adhesive etc. including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
	(iii) 90 mm dia.	1.00	Nos.	200.00	Rupees Two	Each	200.00
31	Providing and fixing viteous china wash basin with single hole for piller tap C.1 or M.S brackets painted white including cuttings holes and making good the same but excluding fittings (i) 550 mmx 400mm MAKE ESS ESS or equivlent.	1.00	Nos.	4902.50	Rupees Four Thousand Nine Hundred Two	Each	4902.50

32	Providing and fixing C.P brass waste pipe for wash basin & sink including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) 32mm dia. make ESS ESS	1.00	Nos	550.00	Rupees Five Hundred Fifty Only	Each	550.00
33	Providing and fixing wire gauge in shutters using galvanised M.S. wire gauge of I.S. gauge designation 85 G, with wire of dia 0.56 mm for doors windows and clerestorey windows including bright finished black enamelled iron hinges with necessary screws, including carriage of materials in all leads as per directions of the Engineer-in-Charge.	2.16	Sqm	300.00	Rupees Three Hundred Only	Per Square Meter	648.00
34	Renewing glass panes, with putty and nails wherever necessary including racking out the old putty (i) Float glass panes of nominal thickness 4 mm including carriage of materials in all leads as per directions of the Engineer-in-Charge. (weight not less than 10kg/sqm)	2.00	Sqm	900.00	Rupees Nine Hundred Only	Per Square Meter	1800.00
	(ii) Frosted glass 4 mm thick	2.00	Sqm	1050.00	Rupees One Thousand Fifty	Per Square Meter	2100.00
35	Half brick masonry with non modular fly ash bricks of class designation 10, conforming o IS:12894, in super structure above plinth and upto floor V level. (i) Cement mortar 1:4 (One cement: four coarse sand) including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge.	2.32	Sqm	1050.00	Rupees One Thousand Fifty Only	Per Square Metre	2436.00
36	15mm Cement plaster in single coat on the rough side of brick/ concrete/stone walls for interior plastering upto floor two level including arrises, internal rounded angles, chamfers and/or rounded angles not exceeding 80mm in girth and finished even and smooth including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)Cement Mortar 1:4 (one Cement: Four Sand).	1.20	Sqm	250.00	Rupees Two Hundred Fifty Only	Per Square Metre	300.00
37	Marble work (table rubbed and polished for walls lining) Veneer work 2.50cm, thick in cement mortar 1:3 (1 cement:3 sand) including pointing with white cement mortar 1:2 (1 white cement: 2 marble dust) with an admixture of pigment to match the marble shade including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) Baroda Green Marble	0.33	Sqm	4800.00	Rupees Four Thousand Eight Hundred Only	Per Square Meter	1584.00
	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622, of approved make, in all colours and shades, laid on 20mm (twenty milimetre) thick cement mortar 1:4 (One cement: four coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including grouting the joints with white cement and matching pigments etc., complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.(i) Size of tile 600x600mm (six hundred into six hundred milimetre)	0.64	Sqm	1450.00	Rupees One Thousand Four Hundred Fifty Only	Per Square Metre	928.00
39	Providing and fixing 100 mm sand cast fron grating for gully trap including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	2.00	Nos.	200.00	Rupees Two Hundred Only	each	400.00
40	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved.	2.46	Cum	600.00	Rupees Six Hundred Only	Per Cubic Metre	1476.00
41	Steel work welded in built up sections, trusses and framed work including cutting hoisting fixing in position and applying a priming coat of red lead paint including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) In gratings, framed guards bars ladders, railing, brackets and similar work.	27.80	Kgs	105.00	Rupees One Hundred Five Only	Per KilogramMetre	2919.00

42	Providing corrugated G.S. sheet roofing including vertical / curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/vertical or curved surfaces), excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 0.63 mm thick sheet.	0.70	Sqm	1350.00	Rupees One Thousand Three Hundred Fifty Only	Per Square metre	945.00
43	Providing and fixing of 40 cm over all width plain GS sheet fixed with polymer coated Jor L hooks bolts and nuts GI limpet bitumen washer complete bend to shape and fixed in wall with cement mortor 1:3 mm thick with zinc not less than 275 gm/m2 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	0.84	Rmt	500.00	Rs Five hundred only	per Running metre	420.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words					G.Total	99703.50

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in

Executive Engineer.
Shimla Division No.1,

HP PWD Shimla-3.



	SCHEDULE OF QU	ANTIT	Y				- 0.00
Гen	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I,	H.P.P.W.D	o., SHIN	ILA-3.	Estimated	Cost:- 99,	693.00
NA!	ME OF WORK:- A/R & M/O to Type-I to VI Qtrs. At Mehli Shi	mla. (SH	:- Pro	viding and	Earnest Mo	oney :- 2,0	00.00
	ing PVC Flooring Set No. 15 &16 Type-III at Mehli Shimla).				Time:- One		Ut DIE
	Description of Work / Item (S)	No.of Qty	·	Estimated	Rate	Unit	Amount
No				In figures	In words		499
1	Providing and fixing 1.50mm(One point Fifty milimetre) thick PVC antistatic venyl Flooring plain or coloured, carbed or mosaic/metalled finish laid with approved adhesive on sub-floor (damp proofing treatment to be paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Sqm	950.00	Rupces Nine Hundred Fifty Only	Per Square Metre	99693.00
						Total	99693.00
	Quated rates Percentage in figures			Š	terre in		
	Quoted rates Percentage in words			L.			
						G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.l, HP PWD Shimla-3.

	SCHEDULE OF QU									
	nder Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION N									
	me of Work :- A/R & M/O from Kelti to Vermu 0/00 to 3/215 road un	nder SUE	B Divis	sion No-1.						
Sŀ	I:- Removal of Slips in various RDs).Job No-I				Time:- C	ne Mon	ith			
Sr.	Description of Work / Item (S)	No.of Qty		Estimated	Rate	Unit	Amount			
No				In figures	In words					
	Hiring of JCB excavator-cum-loader (JCB) including P.O.L charges, shifting charges and other anciliary equipments as required at site of work for removal of slips/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft rock hard rock including their intermediate classification of soil including mechanical transportation of necessary. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took place, the contractor is liable for it. All salvaged materials such quarried stone shall belong to the department and maximum usefull quantities of stone from removal of slips shall have to be neatly stacked along road side on road burms, minium 30.00 Cubic metre of cutting earth work. Minimum 150.00 cubic metre of removal of slips and 300.00 cubic metre removal of snow shall be done by the machine in one hour, other wise number of hour shall be reduced accordingly. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.		Hour	1050.00	One thousand Fifty Only	Per Hours	59850.00			
2	Hiring of Tipper on daily rated basic for carraige of material like stone, empty drumps, muck etc to different destination with in a average lead of 5 km, the tipper should work for 8 00 hours daily including cost of fuel, oil, lubricants and wages of operator and any repair/ breakage during the excution of work will be burne by the owner of machine at his on rick and cost. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.	1.0.00	Day	4000.00	Four Thousand only	Per Days	40000.00			
						Total	99850.00			

Quated rates Percentage in Figures

Quated rates percentage in words.

CONDITION:

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair /maintenance of machineries shall be borne by the contractor.
- 3. For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4. Any damages or loss to Govt./Private property during course of work shall have to be make good by the contractor.

Shimla Division No. 1, HP PWD Shimla-3.

Ten	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.			3.	Estimated C	ost:- 97,	909.00
Nan	ne of Work :- A/R & M/O to various Residential building at Kasumpti Shing of PVC Flooring and Cupboard in Type-IV Set No. 58 at Kasumpti Shiml	imla-9. (Earnest Mon		00.00
	Description of Work / Item (S)	No.of Qt	y.	Estimated	Rate	Unit	Amount
No				In figures	In words		
1	Providing and fixing 1.50mm(One point Fifty milimetre) thick PVC antistatic venyl Flooring plain or coloured, carbed or mosaic/metalled finish laid with approved adhesive on sub-floor (damp proofing treatment to be paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer in-Charge.	50.82	Sqm	950.00	Rupees Nine Hundred Fifty Only	Per Square Metre	48279.00
2	Providing and fixing 19mm thick water proof commercial board in shelves/shutters box for cup board with butt joints & fixing with nails & screws etc complete) including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	20.00	Sqm	1350.00	Rupees One Thousand Three Hundred Fifty Only	Per Square Meter	27000.00
3	Providing and fixing 1.00mm thick coloured or plain lamination sheet (sunmica) on boards/ply wood sheets with approved adhesive and nails etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	15.00	Sqm	850.00	Rupees Eight Hundred Fifty Only	Per Square meter	12750.00
	Providing and fixing bright finished C.P. brass handles with screws etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 100mm	20.00	Nos	150.00	Rupees One Hundred Fifty Only	Each	3000.00
	Providing and fixing magnetic Catchers ISI marked with necessary screws etc complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	20.00	Nos	50.00	Rupees Fifty Only	Each	1000.00
	Applying priming coat over new wood and wood based surfaces after and including prepering the surface by thoroughly cleaning oil, grease, dirt and other foreign matter) sand papering and knotting including carriage of materials in all leads as per directions of the Engineer-in-Charge.	35.00	Sqm	38.00	Rupees Thirty Eight Only	Per Square Meter	1330.00
	Painting two coats(excluding coat) on new wood and wood based surface with enamel paint to give an even shade including cleaning the surface of dirt, dust and other foreign matter, sand papering & stoping including carriage of materials in all leads as per directions of the Engineer-in-Charge.(i) With white enemal paint.	35.00	Sqm	70.00	Rupees Seventy Only	Per Square Meter	2450.00

Providing and applying white cement based putty of average thickness I mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth including carriage of materials in all leads as per directions of the Engineer-in-Charge.	Sqm	60.00	Rupces Sixty Only	Per Square Meter	2100.00
				Total	97909.00
Quated rates Percentage in figures					
Quoted rates Percentage in words					
				G.Total	

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.I, HP PWD Shimla-3.

	SCHEDULE OF QUAN	TITY					
Tend	er Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W	I.D., SHIN	1LA-3.		Estimated	Cost:.99	,70100
Vame	e of Work :- A/R & M/O Elysium Devidhar road . (SH:Providing and Fix)	ing railin	g and	Grating in	Earnest N	1 опеу:-2	00.000
	us Rd.).				Time:- Or	ne Month	
Sr.	Description of Work / Item (S)	No.of Qty	'.	Estimated R	ate	Unit	Amount
No				In figures	In words	1	
1	Steel work welded in built up sections, trusses and framed work including cutting hoisting fixing in position and applying a priming coat of red lead paint including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge (a) In gratings, framed guards bars ladders. railing, brackets and similar work.		Kgs.	105.00	Rupees One Hundred Five Only	Per Kilogram	97964.00
2	Painting Steel work with Deluxe MultiSurface Paint to give an even shade. Two ormore coat applied @ 0.90 ltr/ 10 sqm overan under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and manufacture including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge		sqm	65.00	Rupees Sixty Five Only	Per Square Meter	1737.00
	Correction of the state of the					Total	99701.00
	Quated rates Percentage in figures					Ī	
	Quoted rates Percentage in words						
						G.Total	

- I. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer.

Shimla Division No.I.

IP PWD SRimla-3.

	SCHEDULE OF QUAN	TITY					
Tend	er Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W		LA-3.		Estimated	l Cost:.95	729.00
Name	e of Work :- A/R & M/O Elysium Devidhar road . (SH:Providing and Fixi	ng railing	gand	Grating in	Earnest N	Ioney :- 2	000.00
vario	ous Rd.).				Time:- O	ne Month	
Sr.	Description of Work / Item (S)	No.of Qty		Estimated R	ate	Unit	Amount
No				In figures	In words	7	
1	Repair for crash barrier in gratings, framed guards bars ladders, railing, brackets and similar work.complete carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	178.00	Cum	280.00	Rupees Two Hundred	Per Cubic Meter	49840.00
2	Steel work welded in built up sections, trusses and framed work including cutting hoisting fixing in position and applying a priming coat of red lead paint including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) In gratings, framed guards bars ladders, railing, brackets and similar work.	1042.80	Kgs	39.00	Rupees Thirty Nine Only	Per Kilogram Metre	40669.00
3	Providing and fixing nuts for barrier to beam portion complete carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	58.00	No	90.00	Rupees Ninety Only	Each	5220.00
						Total	95729.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
						G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer.
Shimla Division No.I,
HP PWD Shimla-3.

SCHEDULE OF QU Tender Inviting Authority : EXECUTIVE ENGINEER SHIMLA DIVISION			,	Estimate	d Cost:	- 99,600.00
Name of Work :- Restoration of Rain Damages on various roads Unde	Sub Divi	sion N	lo. I. (SH:-	Earnest N	loney:	- 2,000.00
Removal of slips at various RD's).				Time:- O	ne Mor	ith
Sr. Description of Work / Item (S)	No.of Qty	'.	Estimated	Rate	Unit	Amount
No			In figures	In words		
Removal of land slides/slip clearance. Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slopes and disposal of cut material with in a lift upto 1.5 meter and land upto 1000 meter as per techanical specification 302.3.5 and 1611. The work shall be executed as per the direction of the Engineer-in Charge.		Cum	200.00	Rupees Two Hundred Only	Per Cubic Meter	99600.00
					Total	99600.00

Executive linguiser, Shimla Division No. 1, HP PWD Shimla-3.

	SCHEDULE OF QU	JANTIT	'Y				
Ten	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.I	P.W.D., SH	IMLA-3		Estimated Co	st:- 87,99	93.00
Nam	ne of Work :- A/R & M/O to Type-I to VI Qtrs at Mehli Shimla. (SH:- Pro	oviding an	d fixing	g PVC Wal	Earnest Mon	ey :- 1,80	0.00
Pane	elling in s Noo.17 type-VI at Mehli Shimla).		_		Time:- One M	Ionth.	
Sr.	Description of Work / Item (S)	No.of Qty	·	Estimated	Rate	Unit	Amount
No	5			In figures	In words		
]	Providing and fixing PVC Sheet panelling in walls tounged and grooved etc. including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.		Sqm	1350.00	Rupees One Thousand Three Hundred Fifty Only	Per Square Meter	76356.00
2	Providing and fixing square edges cover fillets (beading) 40mmx40 mm(forty milimetre into forty milimetre) section i/c mitring at junctions with wood screws and nails complete including carriage of matrials in all leads and lifts as per directions of the Engineer-In-Charge.(i)1st class pine wood.		Rmt	65.00	Rupees Sixty Five Only	Per Running Meter	6942.00
3	Providing and fixing vitreous china wash down water closet (European type W.C. pan) with integral P or S trap including jointing the trap with soil pipe in cement mortar 1:1 (One cement:one sand) (seat and cover to be measured and paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Ordinary closet.		Nos	2200.00	Rupees Two Thousand Two Hundred Only	Each	2200.00
	Providing and fixing automatic flushing cistern with a pair of PVC/C.I. or M.S. bracket complete with fittings including PVC syphonic apparatus, mosquito proof lid, PVC union and coupling for connections with inlet, outlet and over flow pipes including cutting holes and making good the same (over flow pipe to be measured and paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)10 litres net capacity.		Nos	2495.00	Rupees Two Thousand Four Hundred Ninety Five Only	Each	2495.00
						Total	87993.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
	2					G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer.
Shimla Division No.I,
HP PWD Shimla-3.

	SCHEDULE OF QU	ANTIT	Y				
Ten	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.I	P.W.D., SH	IMLA-3		Estimated Co	ost:- 99, <u>63</u>	38.00
Nam	ne of Work :- A/R & M/O to Type-VI Qtrs at Mehli shimla. (SH:- Provide	ing & Fix	ing Gyp	osum board	Earnest Mon	ey:-2,00	0.00
ceili	ng in Rooms & Toilets Set No.17 Type-VI at Mehli Shimla).				Time:- One	Month.	
Sr.	Description of Work / Item (S)	No.of Qty	·	Estimated	Rate	Unit	Amount
No				In figures	In words		
	Providing and fixing Gysum board ceiling including partitions of channels design of caping jointing with gypsum nails & screws including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge (12mm thick).		Sqm	2200.00	Rupees Two Thousand Two Hundred Only	Per Square Meter	99638.00
						Total	99638.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
						G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer.
Shimla Division No.I,
HP PWD Shimla₇3.

SCHEDULE OF QUA	NTITY					
Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.	P.P.W.D., S	HIML	A-3.	Estimated (Cost:- 98,	280.00
Name of Work:- A/R & M/O to Shoghi Mehli Junga Sadhupul road in Km. 12/375	to 48/925.	(SH:-	Providing	Earnest Mo	ney :- 2,0	00.00
and Fixing of Road Studs (Hil side) at RD 21/000 to 22/325).				Time:- One	Month.	
Sr. Description of Work / Item (S)	No.of Qty.		Estimated	Rate	Unit	Amount
No			In figures	In words		
Providing and Fixing cat eye make (3m) of size 100x20mm made of heavy duty body shall be molded dual ASA/Acyclic Styrene Acrylonitrile or HP/High impact polystyreaon on ABS having electronically welded micro prisnatics lens with abrasion resistant coating as approved by Engineer-in-Charge. The road stud shall support a load of 13635 bt tesdted in accordance with ASTMD4280. The slope of retro reflective surface shall be 35+/-5degree to hences. The reflective panel on both side with at least 12cm of each area side. Te luminance intesity should be as pae the specification ASTM as recommended in BS-S873 part 41973 as per approved sample and manufacture by the Engineer-in-Charge including carriage of material within all leads and lifts the rate are inclusive of octroi, rayality, malkana GST, toll tax, sale tax or other taxes imposed by the Government.		Nos	390.00	Rupees Three Hundred Ninety Only	Each	98280.00
					Total	98280.00
Quated rates Percentage in figures						
Quoted rates Percentage in words						
					G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Shimla Division No.1, HP PWD Spimla-3.

	SCHEDULE OF QUA	NTITY					
Ter	nder Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P	.P.W.D., S	HIML	A-3.	Estimated (Cost:- 97,	890.00
Na	me of Work:- A/R & M/O to Shoghi Mehli Junga Sadhupul road in Km. 12/375	to 48/925.	(SH:-	Providing	Earnest Mo	ney :- 2,0	000.00
1	d Fixing of Road Studs (Valley side) at RD 21/000 to 22/325).				Time:- One		
Sr.	Description of Work / Item (S)	No.of Qty		Estimated	Rate	Unit	Amount
No				In figures	In words		
	Providing and Fixing cat eye make (3m) of size 100x20mm made of heavy duty body shall be molded dual ASA/Acyclic Styrene Acrylonitrile or HP/High impact polystyreaon on ABS having electronically welded micro prisnatics lens with abrasion resistant coating as approved by Engineer-in-Charge. The road stud shall support a load of 13635 bt tesdted in accordance with ASTMD4280. The slope of retro reflective surface shall be 35+/-5degree to hences. The reflective panel on both side with at least 12cm of each area side. Te luminance intesity should be as pae the specification ASTM as recommended in BS-S873 part 41973 as per approved sample and manufacture by the Engineer-in-Charge including carriage of material within all leads and lifts the rate are inclusive of octroi, rayality, malkana GST, toll tax, sale tax or other taxes imposed by the Government.		Nos	390.00	Rupees Three Hundred Ninety Only	Each	97890.00
						Total	97890.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
						G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.I, HP PWD Shimla-3.

	SCHEDULE OF QU	ANTIT	Y				
Ten	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.I	P.W.D., SH	IMLA-3		Estimated Co	st:- 9 <u>7,</u> 19	3.00
Nan	ne of Work :- A/R & M/O to Type-I to VI Qtrs at Mehli Shimla. (SH:- P	roviding a	nd fixi	ng Gypsum	Earnest Mone	y := 2,00	0.00
boas	rd ceiling in Dining & Ist Floor Room toilet Set No.17 type-VI at Mehli Shim	la).	-		Time:- One M	lonth.	
Sr.	Description of Work / Item (S)	No.of Qty.		Estimated F	Rate	Unit	Amount
No				In figures	In words		
1	Providing and fixing Gypsum board ceiling including partitions of channels design of caping jointing with gypsum nails & screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	22.71	Sqm [2200.00	Rupees Two Thousand Two Hundred Only	Per Square Meter	49962.00
2	Providing wood work in frames of false ceiling, partitions etc. sawn and fixed in position with necessary stainless steel screws etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.(a) 2nd class Rai wood.	0.110	Cum)	60000.00	Rupees Sixty Thousand Only	Per Cubic Metre	6600.00
3	Providing and fixing pine wood lining tongued and grooved, including wooden plugs complete with necessary screws and priming coat on unexposed surface including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge. (i) 12 mm thick		Sqm (1700.00	Rupees One Thousand Seven Hundred Only	Per Square Meter	33694.00
	Polishing two coats with malamine polish of required shade on new wood and wood based surfaces to give an even surface including cleaning the surface of all dirt, dust and sand papered smooth and including a coat of wood filler including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Sqm)	350.00	Rupees Three Hundred Fifty Only	Per Square Meter	6937.00
			[Total	97193.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
						G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer.
Shimla Division No.1,
HP PWD Shimla-3.

T.	SCHEDULE OF Q		** 4 2		Estimated Cost	. (5(00-00	
	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P. ne of Work: - A/R & M/O Directorate of Health services SDA Complex Kasump			- Providing			
ınd	fixing accessories and Baroda green 2nd floor of Director of Health services						
	ion)	N CO:		Estimated Ra		Unit	Amount
Sr. No	Description of Work / Item (S)	No.of Qty.		In figures	In words	Unit	Amount
1	Half brick masonary with common burnt clay F.P.S (non modular) bricks of class designation 7.5 in super structure above level up to floor v level including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	2.43	Sqm	1020.00	Rupees One Thousand Twenty Only	Per Square Meter	2478.6
2	Providing and laying in position cement concrete of specified grade including the cost of centering and shuttering - All work up to plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)1:2:4 one cement : sandcoarse sand): 4graded stone aggregate 20 mm (twenty milimetre) nominal size)	0.15	Cum	6400.00	Rupees Six Thousand Four Hundred Only	Per Cubic Metre	960.00
3	Steel Reinforcement for RCC work including straightening cutting, bending placing in position and binding all complete up to plinth level (i) thermo mechanically treated bars of grade Fe -500 D or more.	20.00	Kg	100.00	Rupees One Hundred Only	per kg	2000.00
4	Providing and fixing vitreous china wash down water closet (European type W.C. pan) with integral P or S trap including jointing the trap with soil pipe in cement mortar 1:1 (One cement:one sand) (seat and cover to be measured and paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Ordinary closet. one piece make ESS ESS		Nos	20000.00	Rupees Twenty Thousand Only	Each	20000.00
5	Providing and fixing plastic seat (Solid / Hollow type) and cover for wash down water closet with C.P. Brass hinges and rubber buffers including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. Make ESS ESS	1.00	Nos	1049.36	Rupees One Thousand Forty Nine and Paise Thirty Six Only	Each	1049.00
6	Providing and fixing hand faucet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	2.00	Nos.	550.00	Rupees Five Hundred Fifty Only	Each	1100.00
	Providing and fixing C.P.brass angle valve for wash basin mixer and geyser points of apporved quantity of materials in all leads and lifts as per directions of the Engineer-in-Charges.(i)15mm(fifteen milimetre)15mm dia. Make ESS ESS or equivalent make.	2.00	Nos	950.00	Rupees Nine Hundred Fifty Only	Each	1900.00
8	Providing and fixing GI Union in pipe complete including cuttings and Making good the wallas 15 mm nominal bore	1.00	No	150.00	Rupees One Hundred Fifty Only	Each	150.00

9	Providing and fixing stainless steel A ISI 304(18/8)kitchen sink as per IS:13983 with CI or M.S. Brackets painted white including cutting holes and making good the same but excluding fitting including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.(i) 610x510mm with bowl depth 200mm.	1.00	Nos	3800.00	Rupees Three Thousand Eight Hundred Only	Each	3800.00
10	Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350 mm and 340x410x265 mm sizes respectively with automatic flushing cistern with standard flush pipe and CP brass spreaders with brass unions and G.I clamps complete fittings and brackets cuttings and making good the walls and floors including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge . make ESS ESS	4.00	No	5000.00	Rupees Five Thousand Only	Each	20000.00
11	Marble work (table rubbed and polished for walls lining) Veneer work 2.50cm, thick in cement mortar 1:3 (1 cement:3 sand) including pointing with white cement mortar 1:2 (1 white cement: 2 marble dust) with an admixture of pigment to match the marble shade including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) Baroda Green Marble	1.50	Sqm	4000.00	Rupees Four Thousand Only	Per Square Meter	6000.00
12	Providing and fixing PVC waste pipe for sink or wash basin including PVC wastefittings complete 32 mm dia (Flexible pipe)	6.00	Nos	200.00	Rupees Two Hundred Only	Each	1200.00
13	Providing and fixing partition for wrinals including carriage of materials in all leads and lifts as per directions of the Engineer - in charge make ESS ESS.	2.00	Nos	2000.00	Rupees Two Thousand Only	Each	4000.00
	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls ctc including carriage of materials in all leads and lifts as per directions of the Engineer-in Charge. (a)15mm dia nominal bore	3.00	Rmt	350.00	Rupees Three Hundred Fifty Only	Per Running Meter	1050.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
						G.Total	65687.60

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in

Executive Engineer, Shimla Division No.I,

HP PWID Shimla-3

	SCHEDULE OF Q er Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-1, H.1	P.P.W.D., SI	HIMLA		Estimated (
	e of Work: - Annual/Comprehensive Maintenance of STP/ETP of Ataialties Hospital at Chamayan Shimla for the Period w.e.f 01.05.2025 to 15.				Time:- 1.5 Months.			
Sr.	Description of Work / Item (S)	No.of Qty.		Estimated F	Rate	Unit	Amount	
No				In figures	In words	l		
Ī	Providing and Supplying Polyelectrolyte (ETP) including all taxes as per norms of BIS including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	I	Kgs	320.00	Rupees Three Hundred Ewenty Only	Per Kilogram	7360.00	
2	Providing and Supplying Lime (ETP) including all taxes as per norms of BIS including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	45.00	Kgs	13.00	Rupees Thirteen Only	Per Kilogram	585.00	
3	Providing and Supplying Ferric Alum (ETP) including all taxes as per norms of BIS including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	45.00	Kgs	25.00	Rupees Ewenty Five Only	Per Kilogram	1125.00	
4	Providing and Supplying Bioculture for STP Aeration Chamber (STP) including all taxes as per norms of BIS including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	12.00	Kgs	1950.00	Rupees One Thousand Nine Hundred Fifty Only	Per Kilogram	23400.00	
5	Providing and Supplying Sodium Hypochlorite (Disinfectant) including all taxes as per norms of BIS including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Litre	30.00	Rupees Thirty Only	Per Litre	2700.00	
6	Providing and Supplying RO or ultra filtration (Antiscalant Dosing) including all taxes as per norms of BIS including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Kgs	235.00	Rupees Two Flundred Thirty Five Only	Per Kilogram	18800.00	
7	Providing and Supplying EM Solution (Aeration chamber) including all taxes as per norms of BIS including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	6.00	Litre	700,00	Rupees Seven Hundred Only	Per Litre	4200.00	
8	Providing and Supplying Bacteria (DAP, UREA, COW DUNG, JAGGERY) as per norms of NABL including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Month	5500.00	Rupees Five Thousand Five Hundred Only	One Month Infleen Days	5500.00	

9	Providing and Supplying ETP (Effluent Treatment Plant) Monthly Sampling Report and from NABL including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Month	3500.00	Rupees Three Thousand Five Hundred Only	One Month Fifteen Days	3500.00
10	Providing and Supplying STP (Sewerage Treatment Plant) Monthly Sampling Report and from NABL including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Month	3500.00	Rupees Three Thousand Five Hundred Only	One Month Fifteen Days	3500.00
11	Providing Manpower for 30 days (Skilled including paid holidays) as per directions of the Engineer-in-Charge.	45.00	Days	614.00	Rupees Six Hundred Fourteen Only	Per Days	27630.00
						Total	98300.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
						G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.I, HP PWD Shimla-3,

SCHEDULE OF QUANTITY Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D.,						Estimated Cost:- 98,600,00			
Name of Work :- Restoration of Rain Damages on various roads Under Sub Division No. I. (SH:-									
Removal of slips at various RD's).						Time:- One Month			
Sr.	Description of Work / Item (S)			Estimated Rate		Unit	Amount		
No				In figures	In words	le Trans			
1.	Removal of land slides/slip clearance. Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slopes and disposal of cut material with in a lift upto 1.5 meter and land upto 1000 meter as per techanical specification 302.3.5 and 1611. The work shall be executed as per the direction of the Engineer-in-Charge.		Cum	200.00	Rupees Two Hundred Only	Per Cubic Meter	98600.00		
						Total	98600.00		

Executive Engineer

Shimla Division No. I.

HP PWD Shimla-3.